



# From The Director's Desk....

Prof. Siddhesh Bomnalikar

Prof. Shailesh Mishra

#### Dear Students & Parents.

We are pleased to welcome you to GLOBAL SCIENCE ACADEMY

The opportunity to shape the minds & lives of young students & providing them with means of attaining knowledge of science is a divine blessing & we are fortunate to have been ordained with it.

"Success is not a destination, but it's a journey"

In Global Science Academy we set an astonishing journey with the goal of providing students a unique learning experience & passing on to everyone in the Global the noble aspiring

"Dare to Dream... Learn to Excel"

We are committed to philosophy that each member of "Team GLOBAL SCIENCE ACADEMY" must have the opportunity for reaching the potential & self esteem. All we help our student realise that talents are gifts to be developed not for self satisfaction but good for society.

We welcome you, here to a world of learning in enjoyable ways, to a world where every student is challenged to grow beyond his/her potential.

# Why GLOBAL???

- Highly Qualified & Experienced Faculty
- Proven Teaching Methodologies
- Small 'Focused' Batches
- Periodic Student Progress Analysis
- Result Oriented Test Series
- Regular Faculty Parents Communication Sessions

# - Teaching Methodology -

- 1) Individual Attention on progress of student
- 2) Revision & Doubts Clearing Sessions.
- 3) Regular Assignments.
- 4) Regular Test-Patterns.
- 5) Systematic Theory.

# **Courses Offered**

## - FOR ENGINEERING -

**JEE (Mains)** 

**Physics + Chemistry + Mathematics** 

MHT - CET

**Physics + Chemistry + Mathematics** 

#### **REGULAR COURSE**

Physics + Chemistry + Mathematics + Biology + MHT - CET

### - FOR MEDICAL -

#### NEET

Physics + Chemistry + Biology

**For Pharmacy MHT - CET** 

Physics + Chemistry + Biology

#### **NEET REPEATERS BATCH**

1 Year Rigorous Coaching for Medical

### **TECHNOPHILIA ENGINEERING ACADEMY**

**Engineering Coaching Section Of GLOBAL SCIENCE ACADEMY** 

# **About Entrance Exams...**

**01. JEE :-** Joint Entrance Examination is an All India Common engineering entrance examination conducted for Admission to various engineering colleges & courses all over the country. The test comprises of two stages JEE (Main) & JEE (Advanced).

JEE (Main) is an examination for admission to NationalInstitute of Technology (NIT'S); Indian Institute of Information Technology (NIIT), Centrally funded technical institutes (CFTI'S), JEE (Advanced) is for admission to the elite IITs.

- **02. MHT-CET :-** Maharashtra Health & Technical Common Entrance Test is an annual entrance exam conducted by Government of Maharashtra. MHT-CET accounts for Engineering, Pharmacy & Health Science admissions in the college of Maharashtra state.
- **03. NEET:** National Eligibility cum Entrance Test is an entrance examination in India, for Students who wish to study any graduate course (BDS) in government & private medical colleges in India.
- **04. NATA :-** National Aptitude Test in Architecture is a national level examination for admission to undergraduate courses in Architecture.

# **About Entrance Exams...**

#### 1) JEE :- (Duration 3 Hours)

P :- 30 mcq (4 marks each) = 120 Marks

C:- 30 mcq (4 marks each) = 120 Marks

M :- 30 mcq (4 marks each) = 120 Marks

#### 3)NEET :- (Duration 3 Hours)

P:- 45 Q (4 marks each) = 180 Marks

C:- 45 Q (4 marks each) = 180 Marks

Botany :- 45 Q (4 marks each) = 180 Marks

Zoology: - 45 Q (4 marks each) = 180 Marks

#### 2) MHT-CET :- (Duration 3 Hours)

P:- 50 Q (1 marks each) = 50 Marks

C:- 50 Q (1 marks each) = 50 Marks

M:- 50 Q (2 marks each) = 100 Marks

#### 4) NATA :- (Duration 3 Hours)

M:- 20 MCQ (2 marks each) = 40 marks

Drawing: - 2 drawings (40 Marks each)

= 80 Marks

Drawing: - 2 drawings (40 Marks each)

= 80 Marks

FEATURES	JEE	MHT-CET	NEET	NATA
COMPULSORY SUBJECTS	РСМ	PCM (Engg) PCB (Pharma)	РСВ	РСМ
MAXIMUM MARKS	(Negative Marking)	200 (No-Negative Marking)	720 (Negative Marking)	200 (No-Negative Marking)
DISTRIBUTION OF MARKS	P - 120 Marks	P - 50 Marks	P - 180 Marks	M - 40 Marks
	C - 120 Marks	C - 50 Marks	C - 180 Marks	General Aptitude 80 Marks
	M - 120 Marks	M/B - 50 Marks	Botany - 180 Marks	Drawing 80 Marks
			Zoology - 180 Marks	

# Scholarship for

# " Giants of GLOBAL"

Top 50 AIR of JEE / NEET - 3,00,000/-

Top 100 AIR of JEE / NEET - 2,00,000/-

More than 190/200 in MHT - CET - 1,00,000/-

Aggregate 90% & above in Boards - 50,000/-

Aggregate 80% & above in Boards +
More than 180/200 in
MHT - CET

- 50,000/-

and much more...

# **General Instructions**

- 01. A student must show discipline in classroom and premises, failing to which institute reserves right to cancel the admission of the student. in such incidence fees will no be refunded.
- 02. All the post dated cheques (PDC'S) to be Dated 10th day of every month.
- 03. At the time of payment of balance fees, student must carry the receipt of the previous installment
- 04. Student who fails to pay the instalment of fees by the due date should note that previous installment will be forfeited & their registration will be cancelled.
- 05. The management reserves the right to change the fees, timing of a batch sub-divide or scrap a batch at their discretion.
- 06. Fees once paid will not be refunded or adjusted under any circumstances.

  Reasons like change of residence, transfer of parents (in service), Cancellation of exams student fails, reports of failure delayed by school authorities not be entertained (A student not sure of passing the present class should not take admission in vacation Batch.)

# Requirement at the time of Admission.

- 01. Photocopy of Std 10th Mark sheet
  - 02. Payment or Cheques as per the fees schedule to be given at the time of admission in favour of "Global Science Academy"
    - 03.2 Recent passport size colour photographs.



Success is not a Destination it's a continuous Journey...

# **Andheri Centre**

410, 4th Floor, Pearl Plaza, Near Mc Donald's, opp. Railway Station, Andheri (West), Mumbai - 400 069



# Kandivali Centre

{C/O Ashirwad Classes}
D/1, Omkar CHS Ltd, plot no. 32, Mhada Road no.2,
Lokhandwala, Kandivali(East), Mumbai :- 400101
+91 900 - 404 - 6902